

# City of Grand Island

## Tuesday, February 10, 2015 Council Session

## Item G-9

**#2015-36 - Approving Contract Renewal for Annual Pavement Markings for the Streets Division of the Public Works Department** 

Staff Contact: John Collins, P.E. - Public Works Director

## Council Agenda Memo

From: Shannon Callahan, Streets Superintendent

**Meeting:** February 10, 2015

Subject: Approving Contract Renewal for Annual Pavement

Markings for the Streets Division of the Public Works

Department

**Item #'s:** G-9

**Presenter(s):** John Collins, Public Works Director

## **Background**

Pavement markings are a critical part of maintaining safety of the City's roadways and have strict standards on size, location, color, and reflectivity set by the Manual on Uniform Traffic Control. 2014 was the first striping season in which a contractor was utilized for pavement marking maintenance.

The use of a pavement marking contractor has allowed the Streets Division to re-organize its labor force to start a storm sewer cleaning program. The storm sewer cleaning also began last spring and will continue to be a valuable program to maintain the City's drainage infrastructure. Another benefit of utilizing contractor services is the reduction in traffic disruption accomplished by work being conducted only during off-peak hours (night) and completed faster using specialized equipment.

## **Discussion**

In February of 2014 the City of Grand Island City Council authorized the award of a pavement marking maintenance contract to Straight-Line Striping, Inc. of Grand Island, NE. The renewable contract was written as a three year agreement, which includes the original term plus two opportunities to renew for additional one-year periods. This is the first renewal period under the existing contract with Straight-Line Striping. The contract, which includes labor, materials, and traffic control, is structured as a unit price contract which enables the Streets Division to utilize as few or as many of the bid services as necessary.

The one-year renewal term is contingent upon mutual agreement, by the City and the Contractor, of the original contract terms and any unit price changes. The Streets

Division and Straight-Line Striping, Inc. both have an interest in continuing the contract for the 2015 striping season.

Below are the proposed unit prices from Straight-Line Striping for the first contract renewal period (submitted forms attached).

	ITEM DESCRIPTION	APPROX. UNIT			UNIT PRICE	EXTENDED PRICE
Z	(PAINT) (WT) ( 4")	437,000	L	F	\$0.07	\$28,405.00
PAVEMEN JES	(PAINT) (WT) ( 6")	100	L	F	\$0.54	\$54.00
AV/	(PAINT) (WT) ( 8")	100	L	F	\$0.54	\$54.00
NN 1 MARKING LANE LINES	(PAINT) (WT) (12")	2,380	L	F	\$0.64	\$1,523.20
N.	(PAINT) (WT) (24")	3,750	L	F	\$0.98	\$3,675.00
5 5	(PAINT) (YEL) ( 4")	231,000	L	F	\$0.07	\$15,015.00
NE.	(PAINT) (YEL) ( 6")	100	L	F	\$0.54	\$54.00
1 ARK	(PAINT) (YEL) (8")	100	L	F	\$0.54	\$54.00
SECTION 1	(PAINT) (YEL) (12")	100	LF		\$0.64	\$64.00
l È	(PAINT) (YEL) (24")	100	LF		\$0.98	\$98.00
SE		TOTAL				\$48,996.20
SECTION 2 PAVEMENT MARKING SYMBOLS	ITEM DESCRIPTION	APPROX. QUANTITY	UN	NIT	UNIT PRICE	EXTENDED PRICE
2 ARK	(PAINT) (WT) (SINGLE ARROW)	350	EACH		\$37.45	\$13,107.50
SECTION 2 MENT MAI SYMBOLS	(PAINT) (WT) (COMBO ARROW)	5	EACH		\$48.00	\$240.00
EN]	(PAINT) (WT) (ONLY)	5	EACH		\$48.00	\$240.00
SEM	(PAINT) (WT) ( RR X-ING	20	EACH		\$125.00	\$2,500.00
PAV		TOTAL				\$16,087.50
3	ITEM DESCRIPTION	APPROX. QU	IANTITY	UNIT	UNIT PRICE	EXTENDED PRICE
SECTION	MOBILIZATION – Spring Season		1	LS	\$0.00	\$0.00
SECT	MOBILIZATION – Fall Season	,	1	LS	\$0.00	\$0.00
				TOTAL		\$0.00
TOTAL (SE	ECT 1 + SECT 2 + SECT 3)				\$65	,083.70

Public Works staff compared the proposed unit prices to the bids received last year (Attachment B). Straight-Line Striping's new unit prices are well below other bidder(s) even with the price adjustments. Therefore, Public Works feels these prices are fair and justified and is making a recommendation that the contract with Straight-Line striping be extended for another one-year term.

## **Alternatives**

It appears that the Council has the following alternatives concerning the issue at hand. The Council may:

- 1. Move to approve
- 2. Refer the issue to a Committee

- 3. Postpone the issue to future date
- 4. Take no action on the issue

## Recommendation

City Administration recommends that the Council approve the contract renewal for an additional one-year period for *Annual Pavement Markings 2014* to Straight-Line Striping, Inc. of Grand Island, Nebraska in the amount of \$65,083.70.

### **Sample Motion**

Move to approve the contract renewal to Straight-Line Striping, Inc. of Grand Island, Nebraska in the amount of \$65,083.70.

#### CITY OF GRAND ISLAND

#### ANNUAL PAVEMENT MARKINGS 2014- Contract Renewal Pricing for 2015

SECTION 1 – PAVEMENT MARKING LANE LINES								
ITEM DESCRIPTION	APPROX. QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE				
(PAINT) (WT) ( 4")	437,000	LF	\$ 0.065	\$ 28405.00				
(PAINT) (WT) ( 6")	100	LF	\$ 0.54	\$ 54.00				
(PAINT) (WT) ( 8")	100	LF	\$ 0.54	\$ 54.00				
(PAINT) (WT) (12")	2,380	LF	\$ 0.64	\$ 1523.20				
(PAINT) (WT) (24")	3,750	LF	\$ 0.98	\$ 3675.00				
(PAINT) (YEL) ( 4")	231,000	LF	\$ 0.065	\$ 15015.00				
(PAINT) (YEL) ( 6")	100	LF	\$ 0.54	\$ 54.00				
(PAINT) (YEL) (8")	100	LF	\$ 0.54	\$ 54.00				
(PAINT) (YEL) (12")	100	LF	\$ 0.64	\$ 64.00				
(PAINT) (YEL) (24")	100	LF	\$ 0.98	\$ 98.00				
			TOTAL	\$ 48996.20				

SECTION 2 – PAVEMENT MARKING SYMBOLS								
ITEM DESCRIPTION	APPROX. QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE				
(PAINT) (WT) (SINGLE ARROW)	350	EACH	\$ 37.45	\$ 13107.50				
(PAINT) (WT) (COMBO ARROW)	5	EACH	\$ 48.00	\$ 240.00				
(PAINT) (WT) (ONLY)	5	EACH	\$ 48.00	\$ 240.00				
(PAINT) (WT) ( RR X-ING)	20	EACH	\$ 125.00	\$ 2500.00				
			TOTAL	\$ 16087.50				

ITEM DESCRIPTION	APPROX. QUANTITY	UNIT	U	NIT PRICE	E	TENDED PRICE
MOBILIZATION – Spring Season	1	LS	\$	Ø	\$	Ø
MOBILIZATION - Fall Season	1	LS	\$	Ø	\$	Ø

TOTAL (SECTION 1 + SECTION 2 + SECTION 3)	\$ 65083.70
TOTAL (SECTION 1 + SECTION 2 + SECTION 3)	\$ 65083.70

#### CITY OF GRAND ISLAND

#### ANNUAL PAVEMENT MARKINGS 2014- Contract Renewal Pricing for 2015

**SUB-CONTRACTOR(S)** 

Bid Section Responsibility		
Company Name		
Address		
Contact Name		
Phone Number		
E-mail Address		

#### **Justification for Pricing Changes**

2014 paint prices increased based off of time records

Kept. Time records showed Completion of the job to

take more man hours than initially anticipated. Material

prices from 2014 did not increase for 2015.

Dated this day of	, 2015.
Respectfully submitted,	
Straight-Line Striping Inc. Company	President
Signature of Bidder	Casey Clausen Name (Print)

#### ATTACHMENT B

**Bid Tabulations** 

Annual Pavement Markings 2014 City of Grand Island Streets Divison Opening Date: February 5, 2014

				BIDDER	Highway Sig	gns, Inc.	Straight-Line St	iping, Inc.
				DIDDLI	Omaha, NE		Grand Island, N	E
– PAVEMENT MARKING ANE LINES	ITEM DESCRIPTION	APPROX. QUANTITY	UNI	т	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
δ ARK	(PAINT) (WT) ( 4")	436,814	LF		\$0.12	\$52,417.68	\$0.06	\$26,208.84
È	(PAINT) (WT) ( 6")	100	LF		\$2.00	\$200.00	\$0.37	\$37.00
Z	(PAINT) (WT) ( 8")	100	LF		\$2.00	\$200.00	\$0.37	\$37.00
1 – PAVEME LANE LINES	(PAINT) (WT) (12")	2,381	LF		\$0.42	\$1,000.02	\$0.43	\$1,023.83
AVE	(PAINT) (WT) (24")	3,752	LF		\$0.25	\$938.00	\$0.86	\$3,226.72
	(PAINT) (YEL) ( 4")	230,739	LF		\$0.12	\$27,688.68	\$0.06	\$13,844.34
	(PAINT) (YEL) ( 6")	100	LF		\$2.00	\$200.00	\$0.37	\$37.00
BID SECTION	(PAINT) (YEL) (8")	100	LF		\$2.00	\$200.00	\$0.37	\$37.00
	(PAINT) (YEL) (12")	100	00 LF		\$2.00	\$200.00	\$0.43	\$43.00
D S	(PAINT) (YEL) (24")	100	LF		\$3.00	\$300.00	\$0.86	\$86.00
BI				TOTAL		\$83,344.38		\$44,580.73
BID SECTION 2 – PAVEMENT MARKING SYMBOLS	ITEM DESCRIPTION	APPROX. QUANTITY	UNI	Т	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
N 2 ARK	(PAINT) (WT) (SINGLE ARROW)	431	431 EACH		\$70.00	\$30,170.00	\$29.50	\$12,714.50
SECTION AENT MAE SYMBOLS	(PAINT) (WT) (COMBO ARROW)	5	EAC	H	\$110.00	\$550.00	\$46.15	\$230.75
SEC.	(PAINT) (WT) (ONLY)	5	EAC	CH	\$110.00	\$550.00	\$46.15	\$230.75
BID SECTION 2 VEMENT MARK SYMBOLS	(PAINT) (WT) ( RR X-ING)	20	EAC	H	\$300.00	\$6,000.00	\$92.10	\$1,842.00
B PAV		TOTAL				\$37,270.00		\$15,018.00
- 8	ITEM DESCRIPTION	APPROX.	QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
	MOBILIZATION – Spring Season	1	1	LS	\$3,500.00	\$3,500.00	\$0.00	\$0.00
SECTION	MOBILIZATION – Fall Season	1		LS	\$3,500.00	\$3,500.00	\$0.00	\$0.00
BID 9				TOTAL		\$7,000.00		\$0.00
BID TOTAL	(BID SECT 1 + BID SECT 2 + BID S	FCT 3)			\$127	,614.38	\$59,5	98.73

#### RESOLUTION 2015-36

WHEREAS, the City of Grand Island City Council authorized a contract for Annual Pavement Markings 2014 with Straight-Line Striping, Inc. of Grand Island, Nebraska on February 11, 2014; and

WHEREAS, the contract allowed for two additional one-year terms pending mutual agreement between the City and the Contractor, including negotiated unit price adjustments; and

WHEREAS, Straight-Line Striping, Inc. of Grand Island, Nebraska submitted justified unit price changes for the 2015 striping season, in the total amount of \$65,083.70, and has fulfilled other statutory requirements contained therein; and

NOW, THEREFORE, BE IT RESOLVED BY THE MAYOR AND COUNCIL OF THE CITY OF GRAND ISLAND, NEBRASKA, that the unit prices proposed by Straight-Line Striping, Inc. of Grand Island, Nebraska, in the total amount of \$65,083.70 for the Annual Pavement Markings 2014 first contract renewal period is mutually agreeable.

BE IT FURTHER RESOLVED, that a contract renewal for such project between the City and such contractor be entered into, and the Mayor is hereby authorized and directed to execute such contract on behalf of the City of Grand Island.

- - -

Ador	oted by	v the Cit	v Council of the C	ty of Granc	l Island,	Nebraska.	, February	v 10.	, 2013	5
------	---------	-----------	--------------------	-------------	-----------	-----------	------------	-------	--------	---

	Jeremy L. Jensen, Mayor	
Attest:		
RaNae Edwards, City Clerk		

 $\begin{array}{cccc} \mbox{Approved as to Form} & \mbox{$\mathbbmm$} & \\ \mbox{February 6, 2015} & \mbox{$\mathbbmm$} & \mbox{City Attorney} \end{array}$